
STREET SCENE EQUIPMENT,INC. 950-80779

365 McCormick Avenue 2009 - 2010
Costa Mesa, Ca. 92626 FORD F-150 

    Phone (714) 426-0590   Fax (714) 426-0591 LOWER VALANCE
GRILLE

  INSTALLATION  INSTRUCTIONS BILLET

VERY IMPORTANT !  Read and understand all directions and check the following parts list before starting
installation. 

PARTS LIST
1            Grille Insert 1    Instructions Sheet 2                  1/4" Nuts
2       1/4" X 5/8 Bolts 2    1/4" Loc Washers 4               Flat Washers

TOOL LIST
 7/16 Wrench, 7/16 Socket, Drill Motor, 1/4" Drill Bit

1.   Place the grille insert into hole where it will be mounted

2.   Now center the insert to the hole and mark the mounting holes on insert and drill 1/4 hole. See photo below

MOUNTING HOLES

3.   After drilling holes to mount the insert use hardware provided.

4/21/10   SSE   950-80779


